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Previous concept

To find the cube root using prime factorisation method

We can find the cube-root of a number by the method of prime factorisation. Consider
the following example for a clear understanding:

2744=2 x2x 2 X7 X7 x7=(2%x7)3

Therefore, the cube root of 2744 = N2744=2x7=14
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Learning outcome

 Students will be able to find the cube root of a negative perfect cube using prime
factorization method
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Cube-root of a negative perfect cube

https://www.khanacademy.org/math/cc-eighth-grade-math/cc-8th-numbers-
operations/cc-8th-roots/v/finding-cube-roots(4:17)
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http://www.khanacademy.org/math/cc-eighth-grade-math/cc-8th-numbers-

Exercise-4(B)

(N64=364 =(2x2x2)x(2x2x2)
=2x2=4
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2)

27
) &z =

’27 J3x3x3

125 3,125 J5x5x5

() 376 ~ V216 ~ J6x6x6

i 343
(iif) 512

(iv) 64 x 729 = 3/64x 729

= J4x4x4x9x9x9 =4 x9 =36

(v) 64 x 27 = /64 x27

= Jax4x4x3x3x3 =4x3=12

(vi) 729 x 8000 = 3/720x 8000

= J9x9x9x20x20x20
=9 x 20 =180

{(vii) 3375 x 512 = 3/3375%x512

= JI5x15x15x8x8x8
=15x8=120
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3)

() -216=3-216 = y-6x-6x-6 =6

(i) =512 = 3/-512 = {/-8x-8x-8 =-8
(iii) =1331 = 3—1331

= Jal =] Jx=~§1 ==

21 21 [3x3x3 3
W ~125 = " fizs 5x5x5 5

64 V=62 Yaxax4 4
M 3353 = B3 Yixixd 7

L _o12 _3’.52 = _3/_3_"?_1‘& s B
M) "33 T V313 TxTx7
(vii) -2197 = 3/-2197

1312197
131169

~3| o0

= Y-13x-13x-13 =-13
(viii)-5832 = 3/-5832
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Exercise-4(B)

5. Find the smallest number by which 26244 may be divided so that the quotient is a
perfect cube.
Sol: 26244 =2x2x3x3x3x3x3x3x3x3
=33x33x3%2x2?
Clearly,26244 must be divided by 32x22=9x4 =36
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4)

’744
=3
(i) 2.744 1000

“ d2x2x2x7x7x7
h 10x10x10

3\/9261 ~ ‘j3x3x3x7x7x7
- Y1000 10x10x10
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Home assignment

Exercise 4(B) Q No- 6 and 7
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